PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

	RFB #4483			Clark Pipeline Services, LLC			Guerra Underground, LLC			
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ			6229 Leopard Street				5114 Balcones Woods Dr. 307-425			
	BASE BID			Corp	ous Chri	isti,T	ΓX 78409	Austin,TX 78759		
ITEM	DESCRIPTION	UNIT	QTY	UNIT PR	RICE		AMOUNT	UNIT PRICE	A	MOUNT
Part A - C	GENERAL				·					
A-01	MOBILIZATION (MAXIMUM 5% of PROJECT TOTAL)	LS	1				165,200.00	\$ 302,000.00		302,000.00
A-02	OZONE ADVISORY DAY	DAY	1	\$ 2	236.00	\$	236.00	\$ 4,240.00		4,240.00
	SUBTOTAL PART A - GENERAL (I	tems A1	thru A2)			\$	165,436.00		\$	306,240.00
Part B - V	WATERLINE IMPROVEMENTS									
B-01	REMOVE AND DISPOSE OF 6" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$14.1	6	\$	70.80	\$ 48.00	\$	240.00
B-02	REMOVE AND DISPOSE OF 8" - 10" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$17.7	0	\$	88.50	\$ 48.00	\$	240.00
B-03	REMOVE AND DISPOSE OF 12" - 14" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$31.8	6	\$	318.60	\$ 55.00	\$	550.00
B-04	REMOVE AND DISPOSE OF 16" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$33.0	4	\$	330.40	\$ 57.00	\$	570.00
B-05	REMOVE AND DISPOSE OF 18" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$33.0	4	\$	330.40	\$ 44.00	\$	440.00
B-06	REMOVE AND DISPOSE OF 20" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$33.0	4	\$	330.40	\$ 59.00	\$	590.00
B-07	REMOVE AND DISPOSE OF 24" DIAM. CIP/DIP/PVC WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$33.0	4	\$	165.20	\$ 59.00	\$	295.00
B-08	REMOVE AND DISPOSE OF 6" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$94.4	0	\$	472.00	\$ 68.00	\$	340.00
B-09	REMOVE AND DISPOSE OF 8" - 10" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$132.1	16	\$	660.80	\$ 68.00	\$	340.00
B-10	REMOVE AND DISPOSE OF 12" - 14" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$180.5	54	\$	1,805.40	\$ 70.00	\$	700.00
B-11	REMOVE AND DISPOSE OF 16" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$218.3	30	\$	2,183.00	\$ 73.00	\$	730.00
B-12	REMOVE AND DISPOSE OF 18" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$245.8	33	\$	2,458.30	\$ 47.00	\$	470.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

				_					
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE		AMOUNT	UNIT PRICE		AMOUNT
B-13	REMOVE AND DISPOSE OF 20" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$269.43	\$	2,694.30	\$ 50.00	\$	500.00
B-14	REMOVE AND DISPOSE OF 24" DIAM. ACP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$281.23	\$	2,812.30	\$ 50.00	\$	500.00
L L 16 I	EXTRA DEPTH FOR WATERLINE REMOVALS FOR EACH VERTICAL FOR OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	5	\$79.33	\$	396.65	\$ 13.00	\$	65.00
B-16	FURNISH AND INSTALL 6" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$41.54	\$	207.70	\$ 182.00	\$	910.00
	FURNISH AND INSTALL 8" - 10" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$75.98	\$	379.90	\$ 228.00	\$	1,140.00
	FURNISH AND INSTALL 12" - 14" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$121.26	\$	1,212.60	\$ 275.00	\$	2,750.00
R-TO I	FURNISH AND INSTALL 16" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$148.50	\$	1,485.00	\$ 306.00	\$	3,060.00
H 12 11 1	FURNISH AND INSTALL 18" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$180.42	\$	1,804.20	\$ 292.00	\$	2,920.00
H_')1 I	FURNISH AND INSTALL 20" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$581.23	\$	5,812.30	\$ 342.00	\$	3,420.00
H_')')	FURNISH AND INSTALL 24" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$292.69	\$	1,463.45	\$ 434.00	\$	2,170.00
B-23	FURNISH AND INSTALL 6" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$171.68	\$	858.40	\$ 207.00	\$	1,035.00
B-24	FURNISH AND INSTALL 8" - 10" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	5	\$262.04	\$	1,310.20	\$ 239.00	\$	1,195.00
B-25	FURNISH AND INSTALL 12" - 14" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$316.18	\$	3,161.80	\$ 326.00	\$	3,260.00
B-26	FURNISH AND INSTALL 16" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$272.44	\$	2,724.40	\$ 345.00	\$	3,450.00
B-27	FURNISH AND INSTALL 18" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$316.18	\$	3,161.80	\$ 311.00	\$	3,110.00
B-28	FURNISH AND INSTALL 20" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$366.78	\$	3,667.80	\$ 373.00	\$	3,730.00
B-29	FURNISH AND INSTALL 24" DIAM. DIP WATERLINE (UP TO 5-FT OF COVER)	LF	10	\$485.28	\$	4,852.80	\$ 446.00	\$	4,460.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE		AMOUNT	UNIT PRICE	,	AMOUNT
B-30	EXTRA DEPTH FOR WATERLINE INSTALLATIONS FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	5	\$1,000.00	\$	5,000.00	\$ 6.00	\$	30.00
B-31	FURNISH AND INSTALL 6" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT COVER)	LF	100	\$65.85	\$	6,585.00	\$ 122.00	\$	12,200.00
B-32	FURNISH AND INSTALL 8" - 10" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	100	\$84.45	\$	8,445.00	\$ 184.00	\$	18,400.00
B-33	FURNISH AND INSTALL 12" - 14" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	100	\$120.45	\$	12,045.00	\$ 214.00	\$	21,400.00
B-34	FURNISH AND INSTALL 16" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	100	\$142.97	\$	14,297.00	\$ 244.00	\$	24,400.00
B-35	FURNISH AND INSTALL 18" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	100	\$169.34	\$	16,934.00	\$ 258.00	\$	25,800.00
B-36	FURNISH AND INSTALL 20" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	100	\$196.74	\$	19,674.00	\$ 305.00	\$	30,500.00
B-37	FURNISH AND INSTALL 24" DIAM. C900 DR18 PVC WATERLINE (UP TO 5-FT OF COVER)	LF	100	\$262.11	\$	26,211.00	\$ 379.00	\$	37,900.00
B-38	EXTRA DEPTH FOR WATERLINE INSTALLATION FOR EACH VERTICAL FOOT OVER 5-FT COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	5	\$25.17	\$	125.85	\$ 6.00	\$	30.00
B-39	CONNECT AND DISCONNECT SERVICE TO TEMPORARY WATER SUPPLY	EA	4	\$2,082.54	\$	8,330.16	\$ 3,150.00	\$	12,600.00
B-40	POINT REPAIR IN FRONT EASEMENT	EA	2	\$2,918.36	\$	5,836.72	\$ 11,682.00	\$	23,364.00
B-41	CONNECT AND DISCONNECT SERVICE TO TEMPORARY WATER SUPPLY	EA	4	\$2,234.00	\$	8,936.00	\$ 3,150.00	\$	12,600.00
B-42	POINT REPAIR IN REAR EASEMENT	EA	2	\$2,918.36	\$	5,836.72	\$ 11,682.00	\$	23,364.00
B-43	FURNISH AND INSTALL 6" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	5	\$434.27	\$	2,171.35	\$ 160.00	\$	800.00
B-44	FURNISH AND INSTALL 8" - 10" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	5	\$487.53	\$	2,437.65	\$ 209.00	\$	1,045.00
B-45	FURNISH AND INSTALL 12" - 14" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	10	\$653.60	\$	6,536.00	\$ 351.00	\$	3,510.00
B-46	FURNISH AND INSTALL 16" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	10	\$703.38	\$	7,033.80	\$ 508.00	\$	5,080.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE		AMOUNT	UNIT PRICE		AMOUNT
B-47	FURNISH AND INSTALL 18" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	10	\$786.25	\$	7,862.50	\$ 525.00	\$	5,250.00
B-48	FURNISH AND INSTALL 20" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	10	\$849.13	\$	8,491.30	\$ 734.00	\$	7,340.00
B-49	FURNISH AND INSTALL 24" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	10	\$976.88	\$	9,768.80	\$ 963.00	\$	9,630.00
B-50	FURNISH AND INSTALL AIR RELEASE VALVES AND MANHOLE	EA	1	\$14,736.63	\$	14,736.63	\$ 8,940.00	\$	8,940.00
B-51	CONSTRUCT DRILL PADS	EA	1	\$8,850.00	\$	8,850.00	\$ 6,420.00	\$	6,420.00
B-52	FURNISH AND INSTALL 6" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	300	\$434.27	\$	130,281.00	\$ 165.00	\$	49,500.00
B-53	FURNISH AND INSTALL 8" - 10" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	300	\$487.53	\$	146,259.00	\$ 215.00	\$	64,500.00
B-54	FURNISH AND INSTALL 12" - 14" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	300	\$653.60	\$	196,080.00	\$ 355.00	\$	106,500.00
B-55	FURNISH AND INSTALL 16" DIAM. C900 DR 18 FUSIBLE PVC WATERLINE BY HDD	LF	300	\$703.38	\$	211,014.00	\$ 515.00	\$	154,500.00
B-56	FURNISH AND INSTALL AIR RELEASE VALVES AND MANHOLE	EA	1	\$14,736.63	\$	14,736.63	\$ 8,953.00	\$	8,953.00
B-57	CONSTRUCT DRILL PADS	EA	1	\$8,850.00	\$	8,850.00	\$ 6,420.00	\$	6,420.00
B-73	FURNISH AND INSTALL 6" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$1,467.07	\$	2,934.14	\$ 1,634.00	\$	3,268.00
B-74	FURNISH AND INSTALL 8" - 10" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$2,987.64	\$	5,975.28	\$ 2,923.00	\$	5,846.00
B-75	FURNISH AND INSTALL 12" - 14" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$13,008.70	\$	26,017.40	\$ 9,368.00	\$	18,736.00
B-76	FURNISH AND INSTALL 16" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$16,309.51	\$	65,238.04	\$ 18,030.00	\$	72,120.00
B-77	FURNISH AND INSTALL 18" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$23,977.41	\$	95,909.64	\$ 23,010.00	\$	92,040.00
B-78	FURNISH AND INSTALL 20" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$27,624.44	\$	110,497.76	\$ 30,341.00	\$	121,364.00
B-79	FURNISH AND INSTALL 24" R/W GATE VALVE AND VALVE BOX (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$36,902.94	\$	147,611.76	\$ 40,579.00	\$	162,316.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
B-80	FURNISH AND INSTALL 6" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$355.35	\$ 710.70	\$ 392.00	\$ 784.00
B-81	FURNISH AND INSTALL 6" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$349.87	\$ 699.74	\$ 386.00	\$ 772.00
B-82	FURNISH AND INSTALL 6" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$360.82	\$ 721.64	\$ 398.00	\$ 796.00
B-83	FURNISH AND INSTALL 6" 90 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$388.88	\$ 777.76	\$ 429.00	\$ 858.00
B-84	FURNISH AND INSTALL 6" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$314.26	\$ 628.52	\$ 347.00	\$ 694.00
B-85	FURNISH AND INSTALL 6" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$697.03	\$ 1,394.06	\$ 808.00	\$ 1,616.00
B-86	FURNISH AND INSTALL 6" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$544.24	\$ 1,088.48	\$ 641.00	\$ 1,282.00
B-87	FURNISH AND INSTALL 8" - 10" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$736.44	\$ 1,472.88	\$ 700.00	\$ 1,400.00
B-88	FURNISH AND INSTALL 8" - 10" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$737.81	\$ 1,475.62	\$ 709.00	\$ 1,418.00
B-89	FURNISH AND INSTALL 8" - 10" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$800.09	\$ 1,600.18	\$ 745.00	\$ 1,490.00
B-90	FURNISH AND INSTALL 8" - 10" 90 DEG BEND (MJ WITH MEGA LUG RESTRAINT FITTING)	EA	2	\$824.73	\$ 1,649.46	\$ 779.00	\$ 1,558.00
B-91	FURNISH AND INSTALL 8" - 10" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$663.21	\$ 1,326.42	\$ 576.00	\$ 1,152.00
B-92	FURNISH AND INSTALL 8" - 10" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$1,025.94	\$ 2,051.88	\$ 1,328.00	\$ 2,656.00
B-93	FURNISH AND INSTALL 8" - 10" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	2	\$939.70	\$ 1,879.40	\$ 1,103.00	\$ 2,206.00
B-94	FURNISH AND INSTALL 12" - 14" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,448.54	\$ 5,794.16	\$ 1,303.00	\$ 5,212.00
B-95	FURNISH AND INSTALL 12" - 14" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,364.36	\$ 5,457.44	\$ 1,268.00	\$ 5,072.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

								
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT	UNIT PRICE		AMOUNT
B-96	FURNISH AND INSTALL 12" - 14" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,356.83	\$ 5,427.32	\$ 1,290.00	\$	5,160.00
B-97	FURNISH AND INSTALL 12" - 14" 90 DEG BEND (MJ WITH MEGA LUG RESTRAINT FITTING)	EA	4	\$1,525.20	\$ 6,100.80	\$ 1,424.00	\$	5,696.00
B-98	FURNISH AND INSTALL 12" - 14" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,142.62	\$ 4,570.48	\$ 924.00	\$	3,696.00
B-99	FURNISH AND INSTALL 12" - 14" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,423.13	\$ 9,692.52	\$ 2,840.00	\$	11,360.00
B-100	FURNISH AND INSTALL 12" - 14" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,874.24	\$ 7,496.96	\$ 2,057.00	\$	8,228.00
B-101	FURNISH AND INSTALL 16" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,731.04	\$ 6,924.16	\$ 1,986.00	\$	7,944.00
B-102	FURNISH AND INSTALL 16" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,689.97	\$ 6,759.88	\$ 1,941.00	\$	7,764.00
B-103	FURNISH AND INSTALL 16" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,720.09	\$ 6,880.36	\$ 1,974.00	\$	7,896.00
B-104	FURNISH AND INSTALL 16" 90 DEG BEND (MJ WITH MEGA LUG RESTRAINT FITTING)	EA	4	\$2,013.69	\$ 8,054.76	\$ 2,294.00	\$	9,176.00
B-105	FURNISH AND INSTALL 16" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$1,603.74	\$ 6,414.96	\$ 1,501.00	\$	6,004.00
B-106	FURNISH AND INSTALL 16" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$4,520.70	\$ 18,082.80	\$ 5,022.00	\$	20,088.00
B-107	FURNISH AND INSTALL 16" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,889.41	\$ 11,557.64	\$ 3,247.00	\$	12,988.00
B-108	FURNISH AND INSTALL 18" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,311.53	\$ 9,246.12	\$ 2,560.00	\$	10,240.00
B-109	FURNISH AND INSTÄLL 18" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,076.78	\$ 8,307.12	\$ 2,304.00	\$	9,216.00
B-110	FURNISH AND INSTALL 18" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,271.83	\$ 9,087.32	\$ 2,517.00	\$	10,068.00
B-111	FURNISH AND INSTALL 18" 90 DEG BEND (MJ WITH MEGA LUG RESTRAINT FITTING)	EA	4	\$2,461.41	\$ 9,845.64	\$ 2,723.00	\$	10,892.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT		UNI [.]	UNIT PRICE		AMOUNT
B-112	FURNISH AND INSTALL 18" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,204.07	\$	8,816.28	\$	1,970.00	\$	7,880.00
B-113	FURNISH AND INSTALL 18" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$5,655.67	\$	22,622.68	\$	6,199.00	\$	24,796.00
B-114	FURNISH AND INSTALL 18" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$897.36	\$	3,589.44	\$	4,286.00	\$	17,144.00
B-115	FURNISH AND INSTALL 20" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,577.85	\$	10,311.40	\$	2,985.00	\$	11,940.00
B-116	FURNISH AND INSTALL 20" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,648.34	\$	10,593.36	\$	3,062.00	\$	12,248.00
B-117	FURNISH AND INSTALL 20" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,596.33	\$	10,385.32	\$	3,005.00	\$	12,020.00
B-118	FURNISH AND INSTALL 20" 90 DEG BEND (MJ WITH MEGA LUG RESTRAINT FITTING)	EA	4	\$3,217.08	\$	12,868.32	\$	3,680.00	\$	14,720.00
B-119	FURNISH AND INSTALL 20" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$2,473.82	\$	9,895.28	\$	2,404.00	\$	9,616.00
B-120	FURNISH AND INSTALL 20" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$7,179.24	\$	28,716.96	\$	8,132.00	\$	32,528.00
B-121	FURNISH AND INSTALL 20" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$4,106.93	\$	16,427.72	\$	4,713.00	\$	18,852.00
B-122	FURNISH AND INSTALL 24" 11.25 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$3,178.61	\$	12,714.44	\$	3,702.00	\$	14,808.00
B-123	FURNISH AND INSTALL 24" 22.5 DEG. BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$3,281.96	\$	13,127.84	\$	3,815.00	\$	15,260.00
B-124	FURNISH AND INSTALL 24" 45 DEG BEND (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$3,417.47	\$	13,669.88	\$	3,962.00	\$	15,848.00
B-125	FURNISH AND INSTALL 24" 90 DEG BEND (MJ WITH MEGA LUG RESTRAINT FITTING)	EA	4	\$4,313.35	\$	17,253.40	\$	4,937.00	\$	19,748.00
B-126	FURNISH AND INSTALL 24" REDUCERS - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$3,224.47	\$	12,897.88	\$	3,280.00	\$	13,120.00
B-127	FURNISH AND INSTALL 24" CROSSES - ALL SIZES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$7,824.44	\$	31,297.76	\$	8,899.00	\$	35,596.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

					Corpus Crinos, 17, 70 100				7 (404, 174 1 0 1 0 0				
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE		AMOUNT	UI	UNIT PRICE		AMOUNT			
B-128	FURNISH AND INSTALL 24" TEES (MJ WITH MEGA LUG JOINT RESTRAINT FITTING)	EA	4	\$5,393.39	\$	21,573.56	\$	6,189.00	\$	24,756.00			
B-129	FURNISH AND INSTALL COPPER OR HDPE SHORT SERVICE (UP TO 5-FT OF COVER)	EA	4	\$2,261.65	\$	9,046.60	\$	3,302.00	\$	13,208.00			
B-130	FURNISH AND INSTALL COPPER OR HDPE LONG SERVICE (UP TO 5-FT OF COVER)	EA	4	\$2,431.36	\$	9,725.44	\$	4,426.00	\$	17,704.00			
B-131	RECONNECT COPPER OR HDPE EXISTING SERVICE TO WATERLINE	EA	4	\$2,192.98	\$	8,771.92	\$	2,862.00	\$	11,448.00			
	CONNECTION TO EXISTING 6" WATERLINE	EA	2	\$1,813.71	\$	3,627.42		8,000.00	\$	16,000.00			
B-133	CONNECTION TO EXISTING 8" - 10" WATERLINE	EA	2	\$2,828.48	\$	5,656.96		8,657.00	\$	17,314.00			
	CONNECTION TO EXISTING 12" - 14" WATERLINE	EA	4	\$4,619.25	\$	18,477.00		11,205.00	\$	44,820.00			
	CONNECTION TO EXISTING 16" WATERLINE	EA	4	\$6,395.92	\$	25,583.68		15,348.00	\$	61,392.00			
B-136	CONNECTION TO EXISTING 18" WATERLINE	EA	4	\$8,133.98	\$	32,535.92	\$	10,756.00	\$	43,024.00			
B-137	CONNECTION TO EXISTING 20" WATERLINE	EA	4	\$9,081.94	\$	36,327.76	\$	17,987.00	\$	71,948.00			
B-138	CONNECTION TO EXISTING 24" WATERLINE	EA	4	\$8,571.82	\$	34,287.28	\$	20,649.00	\$	82,596.00			
B-139	FURNISH 6" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	2	\$1,907.82	\$	3,815.64	\$	2,076.00	\$	4,152.00			
B-140	FURNISH 8" - 10" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	2	\$1,995.42	\$	3,990.84	\$	2,171.00	\$	4,342.00			
B-141	FURNISH 8" - 10" TAPPING SLEEVE C/W 6" RW GATE VALVE	EA	2	\$2,472.31	\$	4,944.62	\$	2,690.00	\$	5,380.00			
B-142	FURNISH 12" - 14" TAPPING SLEEVE C/W 8" - 10" RW GATE VALVE	EA	2	\$4,259.02	\$	8,518.04	\$	4,634.00	\$	9,268.00			
B-143	FURNISH 16" TAPPING SLEEVE C/W 12" - 14" RW GATE VALVE	EA	2	\$7,737.01	\$	15,474.02	\$	8,418.00	\$	16,836.00			
B-144	FURNISH 18" TAPPING SLEEVE C/W 12" - 14" RW GATE VALVE	EA	2	\$7,814.38	\$	15,628.76	\$	8,503.00	\$	17,006.00			
B-145	FURNISH 20" TAPPING SLEEVE C/W 16" RW GATE VALVE	EA	2	\$26,876.05	\$	53,752.10	\$	29,244.00	\$	58,488.00			
B-146	FURNISH 24" TAPPING SLEEVE C/W 20" RW GATE VALVE	EA	2	\$40,977.78	\$	81,955.56	\$	45,932.00	\$	91,864.00			
B-147	FURNISH 6" TAPPING SLEEVE C/W 6" RW GATE VALVE	EA	2	\$42,212.06	\$	84,424.12	\$	2,644.00	\$	5,288.00			
B-148	FURNISH 8" - 10" TAPPING SLEEVE C/W 8" - 10" RW GATE VALVE	EA	2	\$2,447.44	\$	4,894.88	\$	5,566.00	\$	11,132.00			
B-149	FURNISH 12" - 14" TAPPING SLEEVE C/W 12" - 14" RW GATE VALVE	EA	2	\$5,115.44	\$	10,230.88	\$	24,544.00	\$	49,088.00			
B-150	FURNISH 16" TAPPING SLEEVE C/W 16" RW GATE VALVE	EA	2	\$22,555.89	\$	45,111.78		27,758.00	\$	55,516.00			
B-151	FURNISH 18" TAPPING SLEEVE C/W 18" RW GATE VALVE	EA	2	\$35,663.34	\$	71,326.68	\$	38,806.00	\$	77,612.00			
B-152	FURNISH 20" TAPPING SLEEVE C/W 20" RW GATE VALVE	EA	2	\$40,981.32	\$	81,962.64	\$	44,593.00	\$	89,186.00			
B-153	FURNISH 24" TAPPING SLEEVE C/W 24" RW GATE VALVE	EA	2	\$54,101.93	\$	108,203.86		58,710.00	\$	117,420.00			
B-154	FURNISH AND INSTALL 6" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	2	\$5,221.50	\$	10,443.00		5,724.00	\$	11,448.00			
	FURNISH AND INSTALL 8" - 10" TAPPING SLEEVE C/W 4" RW GATE VALVE	EA	2		\$	12,024.20		5,873.00	\$	11,746.00			

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT		UNIT PRICE		AMOUNT
B-156	FURNISH AND INSTALL 8" - 10" TAPPING SLEEVE C/W 6" RW GATE VALVE	EA	2	\$5,870.50	\$ 11,741.00	\$	6,391.00	\$	12,782.00
B-157	FURNISH AND INSTALL 12" - 14" TAPPING SLEEVE C/W 8" - 10" RW GATE VALVE	EA	2	\$10,561.00	\$ 21,122.00	\$	10,777.00	\$	21,554.00
B-158	FURNISH AND INSTALL 16" TAPPING SLEEVE C/W 12" - 14" RW GATE VALVE	EA	2	\$13,688.00	\$ 27,376.00	\$	12,920.00	\$	25,840.00
B-159	FURNISH AND INSTALL 18" TAPPING SLEEVE C/W 12" - 14" RW GATE VALVE	EA	2	\$14,927.00	\$ 29,854.00	\$	12,908.00	\$	25,816.00
B-160	FURNISH AND INSTALL 20" TAPPING SLEEVE C/W 16" RW GATE VALVE	EA	2	\$22,455.40	\$ 44,910.80	\$	35,884.00	\$	71,768.00
B-161	FURNISH AND INSTALL 24" TAPPING SLEEVE C/W 20" RW GATE VALVE	EA	2	\$29,500.00	\$ 59,000.00	\$	54,775.00	\$	109,550.00
B-162	FURNISH AND INSTALL 6" TAPPING SLEEVE C/W 6" RW GATE VALVE	EA	2	\$8,466.50	\$ 16,933.00	\$	6,344.00	\$	12,688.00
B-163	FURNISH AND INSTALL 8" - 10" TAPPING SLEEVE C/W 8" - 10" RW GATE VALVE	EA	2	\$7,788.00	\$ 15,576.00	\$	9,274.00	\$	18,548.00
B-164	FURNISH AND INSTALL 12" - 14" TAPPING SLEEVE C/W 12" - 14" RW GATE VALVE	EA	2	\$13,688.00	\$ 27,376.00	\$	29,305.00	\$	58,610.00
B-165	FURNISH AND INSTALL 16" TAPPING SLEEVE C/W 16" RW GATE VALVE	EA	2	\$20,543.80	\$ 41,087.60	\$	31,650.00	\$	63,300.00
B-166	FURNISH AND INSTALL 18" TAPPING SLEEVE C/W 18" RW GATE VALVE	EA	2	\$27,871.60	\$ 55,743.20	\$	43,211.00	\$	86,422.00
B-167	FURNISH AND INSTALL 20" TAPPING SLEEVE C/W 20" RW GATE VALVE	EA	2	\$35,518.00	\$ 71,036.00	\$	51,228.00	\$	102,456.00
B-168	FURNISH AND INSTALL 24" TAPPING SLEEVE C/W 24" RW GATE VALVE	EA	2	\$46,685.52	\$ 93,371.04	\$	67,680.00	\$	135,360.00
B-169	FURNISH AND INSTALL FH ASSEMBLY LONG LEAD (TEE, PIPE AND VALVE) GREATER THAN 14' IN LENGTH	EA	4	\$9,307.04	\$ 37,228.16	\$	15,050.00	\$	60,200.00
B-170	FURNISH AND INSTALL FH ASSEMBLY SHORT LEAD (TEE, PIPE AND VALVE) UP TO 14' IN LENGTH	EA	4	\$9,248.04	\$ 36,992.16	\$	13,024.00	\$	52,096.00
B-171	REMOVE ESISTING FIRE HYDRANT	EA	2	\$1,331.25	\$ 2,662.50	\$	3,463.00	\$	6,926.00
B-172	FURNISH AND INSTALL WATER METER BOX	EA	5	\$1,067.31	\$ 5,336.55	\$	449.00	\$	2,245.00
B-173	FURNISH AND INSTALL 16" VALVE VAULT/BOX	EA	1	\$27,349.00	\$ 27,349.00	\$	36,028.00	\$	36,028.00
B-174	FURNISH AND INSTALL 18" VALVE VAULT/BOX	EA	1	\$35,001.56	\$ 35,001.56	\$	44,365.00	\$	44,365.00
B-175	FURNISH AND INSTALL 20" VALVE VAULT/BOX	EA	1	\$38,648.37	\$ 38,648.37	\$	48,332.00	\$	48,332.00
	FURNISH AND INSTALL 24" VALVE VAULT/BOX	EA	1	\$47,927.09	\$ 47,927.09	\$	60,597.00	\$	60,597.00
B-177	ADJUST VALVE BOX, 14" AND UNDER	EA	2	\$560.50	\$ 1,121.00	\$	654.00	\$	1,308.00
B-178	ADJUST VALVE BOX, GREATER THAN 14"	EA	2	\$560.50	\$ 1,121.00	\$	654.00	\$	1,308.00
B-179	TRENCH SAFETY FOR REMOVE AND INSTALL WATERLINE (UP TO 5-FT OF COVER)	LF	100	\$11.80	\$ 1,180.00	\$	14.00	\$	1,400.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE		AMOUNT	UNIT PRICE	,	AMOUNT	
B-180	EXTRA DEPTH FOR TRENCH SAFETY FOR REMOVE AND INSTALL FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	10	\$29.50	\$	295.00	\$ 5.00	\$	50.00	
B-181	TRENCH SAFETY FOR HORIZONTAL DIRECTIONAL DRILL PITS (UP TO 5-FT OF COVER)	EA	5	\$2,950.00	\$	14,750.00	\$ 2,247.00	\$	11,235.00	
B-182	EXTRA DEPTH FOR TRENCH SAFETY FOR HORIZONTAL DIRECTIONAL DRILL PITS FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED TO EACH (ALL PIPE SIZES)	1 1	5	\$1,180.00	\$	5,900.00	\$ 376.00	\$	1,880.00	
B-183	FURNISH AND INSTALL CEMENT STABILIZED SAND	TONS	25	\$295.00	\$	7,375.00	\$ 115.00	\$	2,875.00	
B-184	CLEARING AND GRUBBING	AC	1	\$2,950.00	\$	2,950.00	\$ 2,824.00	\$	2,824.00	
B-185	FURNISH AND INSTALL ASPHALT PAVEMENT REPAIR	SY	50	\$155.00	\$	7,750.00	\$ 247.00	\$	12,350.00	
B-186	SAWCUT ASPHALT PER 2" LIFT GREATER THAN 2" THICKNESS	LF	20	\$48.54	\$	970.80	\$ 1.70	\$	34.00	
B-187	FURNISH AND INSTALL ASPHALT OVERLAY PER 2" LIFT GREATER THAN 2" THICKNESS	SY	50	\$41.30	\$	2,065.00	\$ 47.00	\$	2,350.00	
B-188	REMOVE ASPHALT PER 2" LIFT GREATER THAN 2" THICKNESS	SY	50	\$28.88	\$	1,444.00	\$ 7.00	\$	350.00	
B-189	FURNISH AND INSTALL CONCRETE PAVEMENT REPAIR	SF	50	\$56.91	\$	2,845.50	\$ 52.00	\$	2,600.00	
B-190	SAWCUT CONCRETE PER 2" LIFT GREATER THAN 8" THICKNESS	LF	20	\$8.85	\$	177.00	\$ 3.00	\$	60.00	
B-191	FURNISH AND INSTALL CONCRETE THICKNESS PER 2" GREATER THAN 8" THICKNESS	SF	20	\$76.70	\$	1,534.00	\$ 14.00	\$	280.00	
B-192	REMOVE CONCRETE PER 2" LIFT GREATER THAN 8" THICKNESS	SF	50	\$29.50	\$	1,475.00	\$ 4.00	\$	200.00	
B-193	FURNISH AND INSTALL CONCRETE DRIVEWAY REPAIR	SF	50	\$19.47	\$	973.50	\$ 30.00	\$	1,500.00	
B-194	FURNISH AND INSTALL CONCRETE CURB RAMP REPAIR	SF	50	\$50.15	\$	2,507.50	\$ 45.00	\$	2,250.00	
	FURNISH AND INSTALL CONCRETE CURB AND GUTTER REPAIR	LF	20	\$37.76	\$	755.20	\$ 50.00		1,000.00	
B-196	FURNISH AND INSTALL CONCRETE VALLEY GUTTER REPAIR	LF	20	\$55.46	\$	1,109.20	\$ 45.00	\$	900.00	
B-197	FURNISH AND INSTALL CONCRETE SIDEWALK REPAIR	SF	50	\$24.78	\$	1,239.00	\$ 23.00	\$	1,150.00	
B-198	FURNISH AND INSTALL SEEDING	SY	50	\$2.48	\$	124.00	\$ 4.00	\$	200.00	
	FURNISH AND INSTALL SODDING	SY	50	\$18.88	\$	944.00	\$ 38.00	\$	1,900.00	
	FURNISH AND INSTALL WOODEN FENCE	LF	20	\$53.10	\$	1,062.00	\$ 57.00		1,140.00	
	FURNISH AND INSTALL CHAIN LINK FENCING	LF	20	\$64.90	\$	1,298.00	\$ 57.00		1,140.00	
B-202	REMOVE AND REINSTALL RESIDENTIAL MAILBOX	EA	5	\$295.00	\$	1,475.00	\$ 400.00	\$	2,000.00	

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

							 				
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT		UNIT PRICE		AMOUNT		
B-203	HAUL OFF CONCRETE (GREATER THAN 8 INCHES IN THICKNESS)/ASPHALT (GREATER THAN 2 INCHES THICKNESS)	HR	10	\$182.90	\$	1,829.00	\$ 120.00	\$	1,200.00		
B-204	ABANDON 6" TO 10" WATERLINE IN PLACE AND FILL WITH GROUT	LF	10	\$27.14	\$	271.40	\$ 33.00	\$	330.00		
B-205	ABANDON 12" TO 14" WATERLINE IN PLACE AND FILL WITH GROUT	LF	20	\$37.76	\$	755.20	\$ 48.00	\$	960.00		
B-206	ABANDON 16" WATERLINE IN PLACE AND FILL WITH GROUT	LF	20	\$38.94	\$	778.80	\$ 53.00	\$	1,060.00		
B-207	ABANDON 18" WATERLINE IN PLACE AND FILL WITH GROUT	LF	20	\$40.12	\$	802.40	\$ 41.00	\$	820.00		
B-208	ABANDON 20" WATERLINE IN PLACE AND FILL WITH GROUT	LF	20	\$41.30	\$	826.00	\$ 54.00	\$	1,080.00		
B-209	ABANDON 24" WATERLINE IN PLACE AND FILL WITH GROUT	LF	20	\$43.66	\$	873.20	\$ 64.00	\$	1,280.00		
B-210	FURNISH AND INSTALL 12" STEEL CASING PIPE W/6" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	10	\$199.88	\$	1,998.80	\$ 321.00	\$	3,210.00		
B-211	FURNISH AND INSTALL 16" STEEL CASING PIPE W/8-10" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	10	\$244.85	\$	2,448.50	\$ 399.00	\$	3,990.00		
B-212	FURNISH AND INSTALL 20" STEEL CASING PIPE W/12" - 14" WATERLINE BY CONVENTIONAL TRENCHING (UP TO 5-FT OF COVER)	LF	10	\$286.19	\$	2,861.90	\$ 499.00	\$	4,990.00		
B-213	FURNISH AND INSTALL 30" STEEL CASING PIPE W/16" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	15	\$388.40	\$	5,826.00	\$ 625.00	\$	9,375.00		
B-214	FURNISH AND INSTALL 30" STEEL CASING PIPE W/18" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	15	\$391.74	\$	5,876.10	\$ 545.00	\$	8,175.00		
B-215	FURNISH AND INSTALL 32" STEEL CASING PIPE W/20" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	15	\$403.16	\$	6,047.40	\$ 717.00	\$	10,755.00		
B-216	FURNISH AND INSTALL 36" STEEL CASING PIPE W/24" WATERLINE BY CONVENTIONAL TRENCHING, (UP TO 5-FT OF COVER)	LF	15	\$411.64	\$	6,174.60	\$ 851.00	\$	12,765.00		
B-217	EXTRA DEPTH FOR CASING AND WATERLINE INSTALLATION BY CONVENTIONAL TRENCHING FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	5	\$483.47	\$	2,417.35	\$ 6.00	\$	30.00		
B-218	TREE REMOVAL UP TO 8" IN DIA.	EA	5	\$442.50	\$	2,212.50	\$ 693.00	\$	3,465.00		
B-219	TREE REMOVAL GREATER THAN 8" IN DIA.	EA	5	\$885.00	\$	4,425.00	\$ 1,052.00	\$	5,260.00		
B-220	BRUSH REMOVAL	AC	1	\$3,540.00	\$	3,540.00	\$ 2,406.00	\$	2,406.00		
B-221	REMOVE AND REPLACE EXISTING WOODEN FENCE	LF	20	\$35.40	\$	708.00	\$ 50.00	\$	1,000.00		
B-222	REMOVE AND REPLACE EXISTING CHAINLINK FENCE	LF	20	\$55.78	\$	1,115.60	\$ 50.00	\$	1,000.00		
B-223	FURNISH FLAGGER	DAY	5	\$767.00	\$	3,835.00	\$ 590.00	\$	2,950.00		

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT		UN	UNIT PRICE		AMOUNT
B-224	FURNISH AND INSTALL FLASHING ARROW BOARD	DAY	5	\$206.50	\$	1,032.50	\$	1,926.00	\$	9,630.00
B-225	FURNISH AND INSTALL CHANNELIZATION DRUMS (10 DRUMS)	DAY	5	\$265.50	\$	1,327.50	\$	346.00	\$	1,730.00
B-226	FURNISH AND INSTALL TYPE III BARRICADE	DAY	5	\$59.00	\$	295.00	\$	256.00	\$	1,280.00
B-227	FURNISH AND INSTALL SKID MOUNT SIGN ON DOUBLE WOODEN POSTS	DAY	5	\$147.50	\$	737.50	\$	256.00	\$	1,280.00
B-228	FURNISH AND INSTALL SILT FENCE	LF	5	\$6.03	\$	30.15	\$	3.00	\$	15.00
B-229	FURNISH AND INSTALL FIBER ROLLS	LF	5	\$21.37	\$	106.85	\$	11.00	\$	55.00
B-230	FURNISH AND INSTALL ROCK FILLED BAGS	LF	5	\$45.36	\$	226.80	\$	102.00	\$	510.00
B-231	FURNISH AND INSTALL ROCK FILTER DAM	LS	2	\$2,360.00	\$	4,720.00	\$	4,715.00	\$	9,430.00
B-232	FURNISH AND INSTALL CONSTRUCTION ENTRANCE/EXIT	LS	2	\$3,835.00	\$	7,670.00	\$	3,793.00	\$	7,586.00
B-233	FURNISH AND INSTALL WELL POINTING FOR WATERLINE INSTALLATION (UP TO 5-FT OF COVER)	LF	20	\$449.88	\$	8,997.60	\$	90.00	\$	1,800.00
B-234	EXTRA DEPTH FOR WELL POINTING FOR WATERLINE INSTALLATION FOR EACH VERTICAL FOOT OVER 5-FT OF COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)		20	\$592.95	\$	11,859.00	\$	26.00	\$	520.00
B-235	CURB INLET PROTECTION (UP TO 5-FT OF COVER)	LF	10	\$10.00	\$	100.00	\$	11.00	\$	110.00
B-236	PRE-CONSTRUCTION EXPLORATORY EXCAVATION (UP TO 5-FT DEPTH)	LF	10	\$1,221.30	\$	12,213.00	\$	113.00	\$	1,130.00
B-237	EXTRA DEPTH FOR PRE-CONSTRUCTION EXPLORATORY EXCAVATION FOR EACH VERTICAL FOOT OVER 5-FT COVER, ADDED LINEARLY ALONG THE TRENCH (ALL PIPE SIZES)	LF	10	\$47.20	\$	472.00	\$	56.00	\$	560.00
B-238	POTHOLE UTILITY	EA	1	\$11,841.30	\$	11,841.30	\$	1,405.00	\$	1,405.00
B-239	FURNISH AND INSTALL 6" DIA. WATERLINE CAP	EA	2	\$853.42	\$	1,706.84	\$	280.00	\$	560.00
B-240	FURNISH AND INSTALL 8" - 10" DIA. WATERLINE CAP	EA	2	\$968.89	\$	1,937.78	\$	501.00	\$	1,002.00
B-241	FURNISH AND INSTALL 12" - 14" DIA. WATERLINE CAP	EA	2	\$1,020.77	\$	2,041.54	\$	686.00	\$	1,372.00
B-242	FURNISH AND INSTALL 16" DIA. WATERLINE CAP	EA	2	\$1,071.45	\$	2,142.90	\$	1,085.00	\$	2,170.00
B-243	FURNISH AND INSTALL 18" DIA. WATERLINE CAP	EA	2	\$1,307.45	\$	2,614.90	\$	1,297.00	\$	2,594.00
B-244	FURNISH AND INSTALL 20" DIA. WATERLINE CAP	EA	2	\$1,622.50	\$	3,245.00	\$	1,686.00	\$	3,372.00
B-245	FURNISH AND INSTALL 24" DIA. WATERLINE CAP	EA	2	\$2,330.50	\$	4,661.00	\$	2,126.00	\$	4,252.00
B-246	EMERGENCY - TRENCH EXCAVATION SAFETY PROTECTION (ALL DEPTHS)	LF	500	\$85.00	\$	42,500.00	\$	27.00	\$	13,500.00
B-247	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 2" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$4,048.80	\$	4,048.80	\$	8,439.00	\$	8,439.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT		UN	UNIT PRICE		AMOUNT	
B-248	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 2" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$4,048.80	\$	4,048.80	\$	8,439.00	\$	8,439.00	
B-249	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 4" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$4,597.92	\$	4,597.92	\$	12,444.00	\$	12,444.00	
B-250	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 4" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$4,597.92	\$	4,597.92	\$	12,444.00	\$	12,444.00	
B-251	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 6" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$4,955.38	\$	4,955.38	\$	15,343.00	\$	15,343.00	
B-252	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 6" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$4,955.38	\$	4,955.38	\$	15,343.00	\$	15,343.00	
B-253	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 8" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$5,523.29	\$	5,523.29	\$	15,921.00	\$	15,921.00	
B-254	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 8" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$5,523.29	\$	5,523.29	\$	15,921.00	\$	15,921.00	
B-255	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 10" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$10,700.88	\$	10,700.88	\$	16,730.00	\$	16,730.00	
B-256	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 10" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$10,700.88	\$	10,700.88	\$	16,730.00	\$	16,730.00	
B-257	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 12" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$11,404.08	\$	11,404.08	\$	17,837.00	\$	17,837.00	
B-258	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 12" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$11,404.08	\$	11,404.08	\$	17,837.00	\$	17,837.00	
B-259	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 14" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$18,897.57	\$	18,897.57	\$	15,984.00	\$	15,984.00	
B-260	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 14" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$18,897.57	\$	18,897.57	\$	15,984.00	\$	15,984.00	
B-261	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 16" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$22,940.53	\$	22,940.53	\$	23,308.00	\$	23,308.00	
B-262	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 16" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$22,940.53	\$	22,940.53	\$	23,308.00	\$	23,308.00	
B-263	EMERGÉNCY - POINT REPAIR IN FRONT EASEMENT/ROW, 18" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$35,241.41	\$	35,241.41	\$	19,941.00	\$	19,941.00	

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759

				-						
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT		UNIT PRICE		_	AMOUNT
B-264	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 18" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$35,241.41	\$	35,241.41	\$	19,941.00	\$	19,941.00
B-265	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 20" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$38,488.38	\$	38,488.38	\$	31,259.00	\$	31,259.00
B-266	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 20" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$38,488.38	\$	38,488.38	\$	31,259.00	\$	31,259.00
B-267	EMERGENCY - POINT REPAIR IN FRONT EASEMENT/ROW, 24" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$41,188.98	\$	41,188.98	\$	34,148.00	\$	34,148.00
B-268	EMERGENCY - POINT REPAIR IN REAR/SIDE EASEMENT, 24" DIA. WATER LINE (ALL DEPTHS)	EA	1	\$41,188.98	\$	41,188.98	\$	34,148.00	\$	34,148.00
B-269	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 2" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$804.98	\$	1,609.96	\$	178.00	\$	356.00
B-270	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 2" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$804.98	\$	1,609.96	\$	178.00	\$	356.00
B-271	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 4" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$1,131.38	\$	2,262.76	\$	189.00	\$	378.00
B-272	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 4" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$1,131.38	\$	2,262.76	\$	189.00	\$	378.00
B-273	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 6" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$1,104.24	\$	2,208.48	\$	253.00	\$	506.00
B-274	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 6" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$1,104.24	\$	2,208.48	\$	253.00	\$	506.00
B-275	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 8" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$1,542.70	\$	3,085.40	\$	279.00	\$	558.00
B-276	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 8" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$1,542.70	\$	3,085.40	\$	279.00	\$	558.00
B-277	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 10" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$1,934.02	\$	3,868.04	\$	302.00	\$	604.00
B-278	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 10" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$1,934.02	\$	3,868.04	\$	302.00	\$	604.00
B-279	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 12" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$2,426.26	\$	4,852.52	\$	334.00	\$	668.00

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

RFB #4483	Clark Pipeline Services, LLC	Guerra Underground, LLC				
PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ	6229 Leopard Street	5114 Balcones Woods Dr. 307-425				
BASE BID	Corpus Christi,TX 78409	Austin,TX 78759				

-											
ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT		UNIT PRICE	AMOUNT			
I R-7XII	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 12" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$2,426.26	\$	4,852.52	\$ 334.00	\$	668.00		
B-281	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 14" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$2,946.70	\$	5,893.40	\$ 289.00	\$	578.00		
B-282	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 14" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$2,946.70	\$	5,893.40	\$ 289.00	\$	578.00		
B-283	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 16" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$3,633.44	\$	7,266.88	\$ 405.00	\$	810.00		
B-284	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 16" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$3,633.44	\$	7,266.88	\$ 405.00	\$	810.00		
1 R-785	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 18" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$3,749.30	\$	7,498.60	\$ 327.00	\$	654.00		
1 K-/Xh	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 18" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$3,749.30	\$	7,498.60	\$ 327.00	\$	654.00		
B-287	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 20" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$5,720.00	\$	11,440.00	\$ 485.00	\$	970.00		
B-288	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 20" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$5,720.00	\$	11,440.00	\$ 485.00	\$	970.00		
I K-/XU	EMERGENCY - EXTRA LENGTH POINT REPAIR IN FRONT EASEMENT/ROW, 24" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$11,349.09	\$	22,698.18	\$ 626.00	\$	1,252.00		
I R_/40	EMERGENCY - EXTRA LENGTH POINT REPAIR IN REAR/SIDE EASEMENT, 24" DIA. WATER LINE (ALL DEPTHS)	LF	2	\$11,319.09	\$	22,638.18	\$ 626.00	\$	1,252.00		
B-291	EMERGENCY - REMOVE AND REPLACE ASPHALT PAVEMENT, 3" HMAC AND 12" LIMESTONE BASE	SY	100	\$89.16	\$	8,916.00	\$ 393.00	\$	39,300.00		
B-292	EMERGENCY - REMOVE AND REPLACE CONCRETE PAVEMENT, UP TO 12" THICK	SY	80	\$218.75	\$	17,500.00	\$ 742.00	\$	59,360.00		
I B-743	EMERGENCY - FURNISH AND INSTALL TEMPORARY ASPHALT PAVEMENT, UP TO 8" THICK	SY	100	\$168.75	\$	16,875.00	\$ 200.00	\$	20,000.00		
B-294	EMERGENCY - FLOWABLE FILL BACKFILL, COMPLETE AND IN-PLACE	CY	40	\$158.60	\$	6,344.00	\$ 322.00	\$	12,880.00		
B-295	EMERGENCY - CEMENT STABILIZED SAND, COMPLETE AND IN-PLACE	TONS	100	\$125.00	\$	12,500.00	\$ 173.00	\$	17,300.00		
B-296	EMERGENCY - SITE RESTORATION WITH SEEDING	SF	150	\$2.48	\$	372.00	\$ 7.00	\$	1,050.00		
B-297	EMERGENCY - SITE RESTORATION WITH SODDING	SF	150	\$16.52	\$	2,478.00	\$ 58.00	\$	8,700.00		

PROCUREMENT - CITY OF CORPUS CHRISTI, TEXAS

SECOND STATE STA	RFB #4483					Clark Pipeline Services, LLC				Guerra Underground, LLC			
TITEM	PROJECT NO. 23065 Citywide Water Line Repair/Replace – Large Diameter IDIQ						5114 Balcones Woods Dr. 307-425						
B-298 EMERGENCY - REMOVE AND REPLACE CHAINLINK FENCE		BASE BID			Corpus	Christ	i,TX 78409	Austin,TX 78759					
B-298 EMERGENCY - REMOVE AND REPLACE CHAINLINK FENCE													
B-299 EMERGENCY - REMOVE AND REPLACE WOODEN FENCE	ITEM	DESCRIPTION	UNIT	QTY	UNIT PRICE	•	AMOUNT	U	NIT PRICE	,	AMOUNT		
B-300 EMERGENCY - INSTALL NEW CHAINLINK FENCE	B-298	EMERGENCY - REMOVE AND REPLACE CHAINLINK FENCE	LF	50	\$64.90	\$	3,245.00	\$	74.00	\$	3,700.00		
B-301 EMERGENCY - INSTALL NEW WOODEN FENCE LF 25 \$53.10 \$ 1,327.50 \$ 62.00 \$ 1,000 \$ 1,000.	B-299	EMERGENCY - REMOVE AND REPLACE WOODEN FENCE	LF	50	\$53.10	\$	2,655.00	\$	74.00	\$	3,700.00		
B-302 EMERGENCY - REMOVE AND REPLACE CONCRETE DRIVEWAY SF 100 \$42.39 \$4,239.00 \$45.00 \$1.00	B-300	EMERGENCY - INSTALL NEW CHAINLINK FENCE	LF	25	\$64.90	\$	1,622.50	\$	62.00	\$	1,550.00		
B-303 EMERGENCY - REMOVE AND REPLACE CONCRETE SIDEWALK SF 100 \$22.30 \$ 2,230.00 \$ 32.00 \$ 8 8.30 \$ 8.3	B-301	EMERGENCY - INSTALL NEW WOODEN FENCE	LF	25	\$53.10	\$	1,327.50	\$	62.00	\$	1,550.00		
B-304 EMERGENCY - REMOVE AND REPLACE CURB AND GUTTER	B-302	EMERGENCY - REMOVE AND REPLACE CONCRETE DRIVEWAY	SF	100	\$42.39	\$	4,239.00	\$	45.00	\$	4,500.00		
B-305 EMERGENCY - FURNISH AND INSTALL COPPER OR HDPE SHORT SERVICE (UP TO 5 FT OF COVER) EA	B-303			100	\$22.30	. \$	2,230.00	\$		\$	3,200.00		
B-306 EMERGENCY - FURNISH AND INSTALL COPPER OR HDPE LONG SERVICE (UP TO 5- FT OF COVER) EA 20 \$1,776.87 \$ 35,537.40 \$ 6,638.00 \$ 13	B-304		LF	150	\$44.84	. \$	6,726.00	\$	74.00	\$	11,100.00		
SUBTOTAL PART B - WATERLINE IMPROVEMENTS (Items B1 thru B306) \$ 4,416,803.75 \$ 5,23	B-305	· ·	EA	100	\$1,286.90	\$	128,690.00	\$	5,375.00	\$	537,500.00		
Part C - ALLOWANCES C1 BONDS AND INSURANCE (MAXIMUM 2% OF PROJECT TOTAL) AL 1 \$ 74,680.00 \$ 74,680.00 \$ 125,750.00 \$ 125,750.00 \$ 125,750.00 \$ 125,750.00 \$ 125,750.00 \$ 125,750.00 \$ 125,750.00 \$ 125,750.00 \$ 125,000.00 \$	B-306	· ·	EA	20	\$1,776.87	\$	35,537.40	\$	6,638.00	\$	132,760.00		
C1 BONDS AND INSURANCE (MAXIMUM 2% OF PROJECT TOTAL) AL 1 \$ 74,680.00 \$ 74,680.00 \$ 125,750.00 \$ 12 C2 PREPARATION OF TRAFFIC CONTROL PLANS AL 1 \$ 150,000.00 \$ 150,000.00 \$ 15 C3 DISPOSAL OF CONTAMINATED GROUND WATER AL 1 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 200,000.00	SUBTOTAL PART B - WATERLINE IMPROVEMENTS (Items B1 thru B306)			\$	4,416,803.75			\$:	5,238,591.00				
C1 BONDS AND INSURANCE (MAXIMUM 2% OF PROJECT TOTAL) AL 1 \$ 74,680.00 \$ 74,680.00 \$ 125,750.00 \$ 12 C2 PREPARATION OF TRAFFIC CONTROL PLANS AL 1 \$ 150,000.00 \$ 150,000.00 \$ 15 C3 DISPOSAL OF CONTAMINATED GROUND WATER AL 1 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 200,000.00	·												
C1 BONDS AND INSURANCE (MAXIMUM 2% OF PROJECT TOTAL) AL 1 \$ 74,680.00 \$ 74,680.00 \$ 125,750.00 \$ 12 C2 PREPARATION OF TRAFFIC CONTROL PLANS AL 1 \$ 150,000.00 \$ 150,000.00 \$ 15 C3 DISPOSAL OF CONTAMINATED GROUND WATER AL 1 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 100,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 200,000.00	Dort C	Orant O. ALLI OWANIOFO											
C2 PREPARATION OF TRAFFIC CONTROL PLANS AL 1 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 150,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 200,000.00 \$ 100,000.00			Λ1	1	¢ 74.000	00 6	74.000.00	•	105 750 00	Ι φ	105 750 00		
C3 DISPOSAL OF CONTAMINATED GROUND WATER AL 1 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 25,000.00 \$ 20,000.00				1			· · · · · · · · · · · · · · · · · · ·			<u> </u>	125,750.00		
C4 MISCELLANEOUS UTILITY IMPROVEMENTS AL 1 \$ 100,000.00				1		-	•	Φ		- : -	150,000.00 25,000.00		
C5 SERVICES OF A STATE LICENSED SURVEYOR AL 1 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 30,000.00 \$ 200,000.00				1		_	· · · · · · · · · · · · · · · · · · ·	φ ¢	·	<u> </u>	100,000.00		
C6 OTHER EMERGENCY ITEMS AL 1 \$ 200,000.00 \$ 200,000.00 \$ 200,000.00 \$ 20				1	•			φ ¢		φ (30,000.00		
				1			•	\$	•	\$	200,000.00		
Φ 0/0,000.00 Ψ 0/0				•	50 4	·	Ψ	200,000.00	•	630,750.00			
ı	COBICINE I NICIO CICINO CI			and obj		4	010,000.00			Ψ	300,100.00		
TOTAL BASE BID \$ 5,161,919.75 \$ 6,175,	TOTAL BASE BID			\$	5	5,161,919.75	\$		6,17	75,581.00			

^{****} Notes regarding any bidder deemed Non-Responsive or Non-Responsible*****